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Text 1

Complete the text using the words given on the right side.
	Chinese price reforms began in 1978, starting /1/_____ and then spreading to the /2/____. One of the most interesting discoveries was the implementation of so-called /3/_____price system. The idea behind it was to create certain parallelism with two price systems existing at once /4/_____ prices and governmentally /5/_____ prices. The effect was impressing – almost  90 % of all prices  in the economy were /6/_____. Dual-track price reforms improved the overall efficiency of  China’s economy, but appeared to be very /7/_____ to implement. 

In conclusion, it must be pointed out that dual-track prices is one of the efficient tools for countries with /8/_____. That was successfully proven on the example of China.

	a) decontrolled;

b) transition economies;

c) whole economy;

d) costly;

e) free market;

f) in agriculture;

g) dual-track;

h) controlled;
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Text 2

Complete the text using the words given on the right side.

	China's price reforms began in late 1978 in agriculture  and spread slowly, first to consumer goods and later to  /1/_____goods. Supply in the free market track grew rapidly, so its share in total output /2/______ steadily. The planned price was raised incrementally until it /3/____ the market price. By the end of 1994 this dual-track system had led to the /4/______ of more than 90 percent of retail prices and between 80 and 90 percent of agricultural and intermediate product prices, all of which are now market determined. Only a few prices remain  fixed or /5/_____ within a band set by the state.

Eventual full liberalization of the small share of output remaining subject to controls proceeded smoothly. Dual-track reforms were costly to/6/_____ – a vast number of people /7/____ and required strict  /8/_____ to limit the diversion of price-controlled products to the free market and to rein in corruption, with severe penalties for noncompliance.
	a) implement;

b) approached;

c) were needed;

d) intermediate;

e) negotiable; 

f) rose; 

g) enforcement;

h) decontrol.
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Text 3

Complete the text using the words given on the right side.

	Liberalization in transition economies means /1/______ into production, services and trade, including the freedom to /2/____ a new business to expand or break up an existing business, and to /3/______ product mix, suppliers, customers, or geographical base.

The starting point, speed, and scope of free market reforms have varied greatly among transition economies, as initial conditions and political developments have /4/______ governments’ economic policies and influenced their reform choices, Hungary and China began liberalizing /5/______ in the 1960s and the 1970s, respectively. Vietnam /6/________ its liberalization in 1989 after partial reforms had failed to raise growth rates or to stabilize the economy sufficiently. Poland liberalized with one "big bang", freeing 90 percent of prices, /7/_______ most trade barriers, abolishing state trading monopolies, and making its currency /8/_______ for current transactions all at once in January 1990. 

Russia substantially liberalized prices and imports in January 1992, but extensive export /9/_______ remained in place until 1995 and many consumer prices are still subject to local government /10/______. However the countries mentioned above have usually been slower to adjust or liberalize housing rents and utility and public transport  prices.
	a) change;

b) constrained;

c) accelerated;

d) intervention;

e) open;

f) convertible;

g) restrictions;

h) gradually;

i) eliminating;

j) freeing entry;
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Text 4

Complete the text using the words given on the right side.

	There is a close link between the liberalization and growth processes in the modern economy. Moreover, these processes are closely linked not only in market economies, but also in /1/_____. The liberalization processes in transition economies are of course more complicated, since they deal with liberalization of terms of market transactions on the one hand and liberalization of transactions themselves on the other.

The research showed that starting points, speed and scope of reforms varied greatly among countries with transition economies. Initial conditions and /2/______ developments  influenced countries' reform choices.

Free market reforms succeeded in promoting rapid growth in East Asia. China, for instance, is the world's /3/______ economy  since its free market reforms began in 1978. China went through several  stages  of combining plan and market economy (dual-track price approach, etc.). Labor force was transferred  from agriculture into /4/______ sectors. In general, it was costly but efficient /5/_____.

Step-by-step reforms in agriculture in industry in Vietnam and China /6/_______ in increased efficiency and productivity growth. The important result of research is that, on the example of East Asia liberalization reforms, it is possible to work out the most /7/_______ way  of achieving growth in the transition economies.


	a) resulted;

b) way;
c) fastest-growing ;

d) transition economies;

e) political;

f) higher-productivity;

g) efficient .
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Text 5

Complete the text using the words given on the right side.

	Transition has brought market growth in countries' unofficial economies. Many commercial and productive activities go underground to evade high and /1/____ taxes and government /2/____, and to employ workers  flexibly and /3/_____.

Unofficial economies tend to be large  where political controls have /4/_____, economic liberalization is lagging and burdensome regulations and high taxes make the formal environment /5/______ for the private sector. Where the informal economy has grown significantly, it has cushioned the output decline and provided an outlet for /6/_____talent.

As a result of burdensome regulations, firms waste time and money in their efforts to get around controls and /7/______ . These efficiency losses and the difficulty of conducting certain transactions unofficially limit the overall growth. A growing informal economy is thus no substitute for a formal and open private sector, but eventually /8/_____ its development.

In Latin America unofficial activities account for roughly two thirds of total output. Measures that have helped there to bring the informal sector back into the economic mainstream include extensive price and trade liberalization, tight /9/_____ policies, sharp reduction of regulatory constraints, and more professional government administration.
	a) volatile;

b) weakened;

c) cheaply;

d) entrepreneurial;

e) hostile; 

f) controls;

g) taxes;

h) impedes;

i) macroeconomic;
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Text 6

Complete the text using the words given on the right side.

	Across the transition economies, liberalization and stabilization are /1/____ first steps for /2/______ economic performance. In general liberalization involves freeing prices, /3/____ from state control,  whereas stabilization gives /4/_____  inflation and  contains domestic and external imbalances.

Liberalization addresses the two fundamental weaknesses of central planning: poor /5/_____ and poor information. Combined with supporting institutions, competitive markets unleash powerful process to force /6/_____ and organizational change. Liberalization exposes firms to customers’ /7/____, the profit motive and competition. Liberalization, by depoliticizing resource allocation, helps /8/_____ cut subsidies to firms and thus facilitates economic stabilization .


	a) reducing;

b) essential;

c) trade and entry;

d) demand;

e) governments;

f) improving;

g) technological;

h) incentives.
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Text 7

Complete the text using the words given on the right side.

	The starting point, speed and scope of free market reforms have varied greatly /1/_____ transition economies, as initial conditions and political   /2/____ have constrained government's economic policies and influenced  their reform choices. Vietnam accelerated its liberalization in 1989 after partial reforms had failed to raise growth /3/_____. Poland liberalized overnight, freeing  90% of prices, lifting most trade /4/____, abolishing state trading  monopolies, and making its currency convertible for current transactions all at  once in January 1990.  Albania and the Baltic Republics /5/_____ the model of rapid and comprehensive liberalization. Bulgaria initially did the same, but strong interest group pressures for continued protection and state support to enterprises have reversed the process. Russia substantially liberalized prices, but extensive export /6/_____ remained in place until 1995 and many consumer prices are still subject to local government intervention. Countries have usually been slow to /7/____housing rents and utility and public transport prices.


	a. developments;

b. followed;

c. among;

d. adjust;

e. restrictions;

f. rates;

g. barriers.
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Text 8

Complete the text using the words given on the right side.

	Macroeconomic imbalances deny the gains of /1/_____, that is why countries /2/_____ stabilization policy. Evidence from transition economies shows that growth /3/_____ dramatically when inflation rises above 40 percent. High inflation obscures relative price incentives and inhibits savings and investment.

In Asia as in Europe growth has largely resulted from the lifting of /4/____, and /5/____ prices and trade.

Differences between countries' policies are related with /6/____, approaches to /7/______ reforms, and in /8/_____. In China the initial economic structure combined with strong, macroeconomic control has allowed large growth gains to translate in high savings. But gradual, partial reforms were not an option for most NIS and CEE countries, they preferred broad-based reforms.
	a) need;

b) deteriorates;

c) macroeconomic;

d) market reform;

e) outcomes;

f) freeing;

g) initial conditions;

h) restrictions.
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Text 9

Complete the text using the words given on the right side.

	In countries where liberalization has been /1/____, output losses have on average been /2/____.

Liberalization has been a /3/____, The least liberalized countries have fared slightly better than moderate reformers. More advanced liberalizers have come out /4/____ at least in terms of /5/____. All-out liberalization is not always possible or preferable. When choosing how much and how fast to /6/____, governments are constrained by initial conditions.

Exports from countries with more open regimes declined less, with the initial overall output growth. By contrast OECD-oriented exports of manufactures have remained /7/____ and the contribution of exports to growth has been /8/____.


	a) liberalize;

b) smaller;

c) far ahead;

d) stronger;

e) marginal;

f) good investment;

g) national income;

h) negligible.
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Text 10

Complete the text using the words given on the right side.

	There is powerful evidence from transition economies that the /1/____  of early external liberalization far outweigh  the potential costs.

Trade controls need to be enforced against strong /2/____ for both partners in a voluntary transaction to circumvent them. In transition economies trade controls tend to be relatively /3/____ at protecting firms or raising tariff revenues, and instead breeding /4/____.

Reversing the past repression of services in the NIS could increase national income by more than 10 %.

In Russia the price of paid services relative to that of goods in the average consumer basket rose /5/____ between 1990 and 1994. Industry's share has declined more sharply in the /6/____ reformers.

The sector of agriculture has suffered an unnecessarily severe relative /7/____ because supply and processing are not yet fully /8/____ ,  and governments still intervene to hold down food prices .


	a) ineffective;

b) price shock;

c) benefits;

d) fivefold;

e) corruption;

f) competitive;

g) advanced;

h) incentives.
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Text 11

Complete the text using the words given on the right side.

	In 1989—95 GDP has fallen around 16% in five CEE countries and around 30% in eleven NIS countries, which  /1/____ the fall of living standards in the early stages of reforming.  The process of liberalization, combined with stabilization meant the end of the /2/____ shortage economy, falling inventories contributed about one third to the /3/____  drop in Poland in 1990—91 and over half of the 11% drop in the Baltic Countries in 1993. In Russia, military /4/____ was cut by 70%.

The disintegration of the CMEA and the Soviet Union, coupled with trade liberalization led to a /5/____ in trade among CEE countries and the NIS. Russia's price /6/____      on raw materials and energy to others countries were worth about $58 billion in 1990, of which $40 billion went to the rest of the Soviet Union and $18 billion to other CMEA countries. Ending of these subsidies raised the /7/____ of imported production inputs,  reducing aggregate supply and output, which led to overall /8/____ losses of more than 19% of GDP, and 15—20% in the case of some highly /9/____ countries.


	a) subsidies;

b) import-dependent;

c) supply-constrained;

d) entail;

e) collapse;

f) output;

g) procurement;

h) cost;

i) terms-of-trade.
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Text 12

Complete the text using the words given on the right side.

	Russia was unable to exploit fully the improvement in its terms because of the /1/____ of the initial  interstate payment system and continued export restraints.

Moreover, the NIS and CEE planning institutions had vanished before new market institutions could develop, which caused coordination /2/____ throughout the production and /3/____. Coordination failures, uncertainty, and distorted incentives of survival-oriented firms constrain the start up or /4/____ of profitable activities. Russian oil production has also fallen by almost half despite a steep increase in the /5/_____ price of energy. The main reasons are an acute shortage of /6/____ and upgrade investments  and an inadequate legal,  institutional, and fiscal framework that /7/_____management improvements, foreign investors, and new technology.


	a) maintenance;

b) relative;

c) expansion;

d) inefficiency;

e) failures;

f) trading system;
g)   discourages.
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Text 13

Complete the text using the words given on the right side.

	Liberalization means the end of the /1/______ shortage of economy. So firms and consumers drew down their supply stock as /2/_____ became unnecessary.

The disintegration of the CMEA and the Soviet Union; coupled with trade liberalization; led to a /3/____ in trade among CEE countries and the NIS. So the costs of imported production inputs /4/____, reducing aggregate /5/____ and output. There were collapses of /6/____ volumes and continued export restraints in Russia. The initial payment system was /7/____.

In CEE and the NIS planning institutions had  /8/____ before new market institutions could develop. The lack of market institutions caused coordination failures /9/____ the production and trading system — many of them related to limited information and to uncertainty.  It encouraged capital /10/____. These problems were /11/____ by inconsistent reform policies in many countries.


	a) flight;     

b) inefficient; 

c) supply-constrained;

d) hoarding; 

e) rose; 

f) supply; 

g) trade; 

h) exacerbated;

i) throughout;

j) vanished; 

k) collapse.
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Text 14

Complete the text using the words given on the right side.

	Output has fallen dramatically in European and Central Asian transition economies.  Some of the  official estimates overstate the decline because of /1/____ weaknesses but the data based on electricity demand provide a  lower bound to the output decline. Because of sharp falls in /2/____, consumption has declined less than output, but living standards fell in most countries at  the beginning of  reforms.

Liberalization combined with stabilization meant the end of the  supply-constrained  /3/____ economy. The shoddiest products couldn't be sold now and remained on the shelves. Hoarding became /4/____, but excess inventories and eliminating of unwanted products did not /5/____ welfare. But all initial cuts in output had second-round effects on spending and demand, which may have /6/____ the overall effect on output.

The collapse in trade among СEE countries and the NIS entailed huge price /7/____ for previously subsidized raw materials and energy. Ending these subsidies raised the /8/____ of imported production inputs reducing aggregate supply and output. Many non-NIS countries also suffered overall /9/____ losses, especially in the case of some highly import-dependent countries. The collapse in trade was compounded by the stupendous /10/____ of the initial interstate /11/____ system.


	a)    rises;

b) statistical;

c) shortage;

d) cost; 

e) inefficiency; 

f) unnecessary; 

g) reduce; 

h) doubled;

i) terms-of-trade;

j) payment; 

k) investment. 
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Text 15

Complete the text using the words given on the right side.

	There are two major sources of growth in transition economies.

Across CEE and the NIS liberalization has been positively associated with /1/____. In countries where liberalization has been stronger, /2/____ have on average been /3/____.

The /4/____ liberalized countries have fared slightly /5/____ than moderate reformers. More advanced liberalizers, however, whose cumulative market reforms have now reached a critical mass, have come out far ahead, at least in terms of /6/____. When choosing how much and how fast to liberalize, governments are constrained by initial /7/____, and often the effects of different strategies will be highly /8/____.

Exports and services have been the major  engines of growth in transition economies.

	a) growth;

b) uncertain;

c) conditions; 

d) output losses;

e) smaller; 

f) least; 

g) national income;

h) better.
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Text 16

Complete the text using the words given on the right side.

	Overall, the European /1/____ countries have been strikingly successful at opening their economies and reorienting their exports toward /2/____. There is powerful evidence from transition economies that the benefits of early external liberalization far /3/____ the potential costs. But continued trade controls are likely to yield few benefits for transition countries. Trade controls are ineffective at /4/____ firms or raising /5/____ revenues, and instead breed corruption. Protection measures often become /6/____, and these changes in trade policy are bad for firms.

One study estimated that reversing the past repression of services in the NIS could /7/____ national income by more than 10% and /8/____ around 6 mln. additional jobs, substantially compensating for declines in other sectors. Service sector output has indeed soared during transition, especially where liberalization is more /9/____. The adjustment from industry toward services has meant huge shifts in relative /10/ ____. 

	a) transition; 

b) advanced; 

c) outweigh; 

d) permanent; 

e) generate; 

f) protecting; 

g) tariff; 

h) prices; 

i) world markets;

j) increase.
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Text 17

Complete the text using the words given on the right side.

	There is a close link between the liberalization   and  /1/____ in the modern economy. Moreover, these processes are closely linked not only in /2/____, but also in transition economies. The liberalization processes in  transition economies are of course more /3/_____, since they deal with liberalization of terms of /4/____  on the one hand and liberalization of transactions themselves on the other.

The research showed that starting points, speed and scope of reforms varied greatly among  countries with transition economies. Initial conditions and political developments /5/____ countries' reform choices.

Free market reforms succeeded in promoting /6/____ growth in East Asia. China, for instance, is the world's fastest-growing economy since its free market reforms began in 1978. China went through several stages of combining /7/____ and market economy  (dual-track price approach, etc.). Labour force was transferred from agriculture  into /8/____ sectors. In general, it was /9/____, but /10/____ way.

   The important result of research is that, on the example of East Asia liberalization reforms, it is possible to /11/____ the most efficient way of achieving growth in the transition economies.


	a) market economies; 

b) growth processes;

c) plan; 

d) work out;

e) complicated ;

f) rapid; 

g) market transactions;

h) efficient; 

i) influenced; 

j) higher-productivity;

k) costly;
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Text 18a

Complete the text using the words given on the right side.

	China's price reforms began in late 1978, implementing /1/____ system in which the share of production continuously /2/____, and more and more prices were subjected to varying degrees of /3/____ guidance. Meanwhile the planned price was raised /4/____ until it approached the /5/____. Although liberalization remained /6/____, dual-track price reforms did improve /7/____, because the price of the marginal unit reflected /8/____ cost and correctly signaled relative /9/____, and because the share of sales at planned prices /10/____ over time.
	a) efficiency; 

b) a dual-track;

c) market price; 

d) declined; 

e) incomplete; 

f) economic; 

g) scarcity; 

h) market; 

i) declined;
j) incrementally.
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Text 18b

Complete the text using the words given on the right side.

	In market economies liberalization usually means /1/____ price controls and /2/____ trade protection in a few heavily regulated, or protected sectors. Hungary and China began liberalizing  gradually in the 1960s and the 1970 respectively. Vietnam accelerated its liberalization in 1989 after partial reforms had /3/____ to raise growth rates or to /4/____ the economy sufficiently. Apart from small, diamond-rich Botswana, China has been the world’s /5/____ economy since its free market reforms began in 1978. Both have liberalized substantially, but not (particularly China) on a scale or at a speed comparable  to the radically reforming CEE countries. A specifically Chinese dual-track approach was used for /6/____ prices, external trade, foreign exchange  and the enterprise sector. Liberalization in Vietnam was broader and faster. But as in China, significant restrictions remain, especially on trade and entry, and difficult reforms of state enterprises and the financial sector have yet to be /7/___.


	a) moderate; 

b) eliminating; 

c) failed; 

d) relaxing;

e) fastest-growing;

f) stabilize; 

g) undertaken.
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Text 19

Complete the text using the words given on the right side.

	TRANSITION is a /1/____ historical process, posing change on almost every element of society. Assessing the progress of a great number of countries during  /2/____ is a complex  undertaking  in any area, including economics. Success in recovering output, however, readily suggests itself as a useful unifying theme for economic /3/____, not least because of the importance policy-makers in transition economies attach to output growth and its immediacy  for the welfare of everyone in those countries. Based on extensive econometric analysis, this article identifies factors that have inhibited or encouraged the expansion of /4/____ and points out several lessons for achieving /5/____ and sustainable economic growth. 

In a broad sense, transition implies

• liberalizing economic activity, prices, and market /6/____, along with reallocating /7/____ to their most efficient use;

• developing indirect, market-oriented instruments for /8/____ stabilization;

• achieving effective enterprise management and economic efficiency, usually through /9/____;

• imposing hard budget /10/____, which provides incentives to improve  efficiency; and

• establishing an institutional and legal framework to /11/_____ property rights, the rule of law, and transparent  market-entry regulations.
	a) output;

b) operations;

c) macroeconomic;

d) dynamic;

e) transition; 

f) secure;

g) assessment;

h) consistent; 

i) privatization;

j) resources;
k) constraints.
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Text 20

Complete the text using the words given on the right side.

	No one pattern characterizes the growth experience of the /1/____. Indeed, substantial /2/____ exist among the countries of Central Europe, the Baltics, and the 12 members of the Commonwealth of Independent States (CIS), although the Baltics /3/___ some characteristics with the other two groups, specifically, the deep decline of the CIS and the earlier /4/____ of Central Europe. It is useful, however, to view the 25 transition countries as falling into several categories: those with consistent growth, those with growth /5/____, and those with little or no growth.

Do the transition economies differ all, that much from one another? What elements in their structure and development shed light on their differing /6/____ of growth? Regression analysis done in an underlying study allows us to draw a number of /7/____. The three groups differ considerably from one another in growth rates.  These uneven growth rates suggest that differences in initial conditions such as having less /8/____ economic structures or closer similarities to /9/____ economies, may be important determinants  of /10/____ progress.


	a) rates;

b) distorted;

c) differences;

d) recovery;

e) market;

f) share;

g) transition economies;

h) subsequent;

i) reversals;

j) conclusions.
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Text 21

Complete the text using the words given on the right side.

	Growth has generally been more vigorous and has certainly come sooner in countries that have controlled  /1/____. Countries with consistent growth have, on average, much /2/____ inflation rates.

Another key determinant of progress is the degree of reform or market /3/ ______. An analysis of the liberalization of prices, the financial sector, and external trade, and the enterprise reform indicates a distinctly higher liberalization index in the Baltics and Central Europe — that is, in the countries with much better /5/____ performance — than in countries that have suffered growth /6/____ or have experienced /7/____ growth.

Countries that liberalized prices early and comprehensively have experienced the earliest output  /8/____. Output has also increased  rapidly in countries with high average growth rates of /9/____, suggesting that opening an economy to outside influences and stimulating output to generate exports are important /10/____ of growth.


	a) slower;
b) exports;
c) inflation;

d) liberalization;
e) reversals;
f) recoveries;
g) determinants;
h) lower;

i) growth.
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Text 22

Complete the text using the words given on the right side.

	Foreign direct /1/____ арреагs to play a role. This investment is highest in the /2/_____ economies of Central Europe and the Baltics, where it /3/____ to $70-$75 per capita. That the causation does not run from /4/____ of foreign investment is suggested by the fact that even those CIS countries that have enjoyed consistent growth have not /5/____ anything like the same amounts of foreign direct investment.                 

A significant score on an index of effective implementation of /6/____ programs, appears to be strongly /7/____ with growth performance. This finding should not be interpreted as suggesting that good performance on IMF programs is all it takes to /8/____ growth. Rather, countries that do well under IMF programs also have made the commitment to do well in /9/____ general economic reform and stabilization, creating an /10/____ conducive to vigorous economic growth. 


	a) growth;

b) IMF;

c) achieve;

d) investment;

e) promoting;

f) amounts;

g) environment;

h) successful;

i) correlated;

j) attracted.
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Text 23a

Complete the texts using the words given on the right side.

	  The period of transition can usefully be divided into the early so-called /1/____ period (1990-93) and the later /2/____ period (1994-98). The statistical fit for most variables is far stronger for the growth period than for the period of decline.   

Those who suggest that reform is /3/____ are absolutely right. Output declines, and does so more sharply in fast  reformers, but early reforms /4/____ in terms of earlier recovery and more robust subsequent growth. The regression results noted above /5/____ this pay off. In the first (decline) period, the relationship between growth and reform /6/____ a U-shaped curve: the growth rate is higher (or the rate of decline lower) in countries with /7/____ reform programs as well as in those with very /8/____ reform programs. In the second (recovery) period, the relationship is uniformly positive: growth is slowest in the least advanced reformers, somewhat faster in those that are /9/____ advanced, and fastest in the /10/____ advanced reformers.


	a) pay off;

b) decline;

c) strong;

d) confirm;

e) moderately;
f) growth;

g) traces;

h) most;

i) limited;
j) painful.
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Text 23b

Complete the text using the words given on the right side.

	   Investment alone does not ensure early growth and recovery that is, one cannot force economic growth by /1/____ investment. Given that investment takes time to /2/____ output, it is normal to see investment increases followed by growth increases two or three years later. One does not observe this pattern in transition economies, where investment-to-GDP ratios generally started rising only when growth began to /3/____. The explanation is that early growth is due to the efficiency gains resulting from /4/____ reforms  -  that is, hard budget /5/____ and /6/____  - that generate incentives for /7/____ to become more productive. This does not, however, mean that investment is unimportant. Some new investment, localized at the firm level or in a given sector, will be needed for /8/____ growth. Furthermore, once recovery well under way  - as, for example, in Hungary or Poland  -   a higher level of investment becomes increasingly /9/____ if growth is to be sustained.


	a) initial;

b) liberalization;

c) recover;

d) entrepreneurs;

e) constraints;

f) increasing;

g) appropriate;

h) important;

i) produce.
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Text 24

Complete the text using the words given on the right side.

	We conclude by noting five lessons for countries seeking to /1/____ consistent and sustainable growth.

• The first is the least surprising and least controversial: sustained macroeconomic /2/____ (that is, inflation control) is essential,    

• The second lesson is "no pain, no /3/____". Delayed reforms can indeed defer the pain, but they also defer sustained recovery and /4/____ the risk that growth will be reversed. 

• The third lesson is that there is no  royal road to reform. There is no one key, no panacea. One needs to /5/____ all the different components of reform. Growth comes as a result of a great deal of /6/____ by many people doing the right things over an extended period.

• The fourth lesson concerns unfavorable  initial conditions, such as a /7/____ industrial system, which certainly have a negative effect on growth. However, that negative effect is by no means fatal and can be offset by /8/____ reforms. 

• The fifth lesson concerns /9/____ development. The results suggest that developing an appropriate legal structure is indispensable, but not necessarily in advance of other reforms. However, if development of the legal system is /10/____ too long — if one puts off the implementation of the rule of law, enforcement of discipline, and security of property rights — then other reforms are /11/____ to produce significant benefits.


	a) implement;

b) delayed;
c) achieve;

d) gain;

e) comprehensive;

f) institutional;
g) unlikely;
h) distorted;

i) stabilization;

j) increase;

k) effort.



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11


Text 25

Complete the text using the words given on the right side.

	  In evaluating borrower's /1/________, banks assess the          underlying  profitability   of the project to be financed, using a different information set from that /2/________to the borrower. For example, while a prospective borrowing firm may know more about the /3/ ________of its project, banks have a comparative advantage assessing the strength of borrower's /4/________and the quality of their managements. Banks may also possess more information about general market conditions and the /5/________ (for example the state of monetary policy   and the .outlook for   / 6/  ________, price economic activity, and exchange rates). By using these types of information to develop an independent /7/ ________ of risk, banks aid firms in choosing profitable investment projects and avoiding unprofitable ones.


	a.   available;

b. cost structure ;  

c. creditworthiness;

d.  interest rates;

e. assessment;

f. business plan;

g. macroeconomic 

      environment.


	1
	2
	3
	4
	5
	6
	7


Text 26

Complete the text using

 the words given on the right side.

	The soundness of the banking system depends on how effectively banks 1______   the due diligence procedure that underlie their 
2 ______  and their lending decision, and on how well they recognize and manage changing 3 ______ as the economic circumstances of their borrowers evolve. But banks also perform other key financial functions, such as 4 ______  the clearing and payment system and the foreign exchange market. As a result, the banking sector is the main vehicle for transmitting 5______ to market interest rates, stock of liquidity, and, ultimately, overall economic activity and prices. Because of these diverse functions, a sound banking sector is the single most essential element of a 6________. 

	a. risk profiles;
b. perform;
c. operating;
d. healthy financial system;
e. credit risk analyses;
f. monetary policy actions.


	1
	2
	3
	4
	5
	6


Text 27

Complete the text using the words given on the right side.

	How effectively banks /1/______these functions depend, in turn, on competition in the banking system and /2/______​​​of the macroeconomy. One major reason why the banking sectors of many transition countries are so uncompetitive is because of /3/______. Governments in many transition countries have often /4/_____excessive concentration  through nationalization and public ownership, restrictions on  /5/ _____, and 
/6/ ______on relations between domestic banks and financial or corporate groups. These distortions have frequently been compounded by direct government intervention in banks' lending decision, with /7/_____on banks balance sheets over time.


	a.
perform;
b.   the state;
c.   lax rules;
d.
adverse effects;
e.
government intervention;
f.
encouraged;
g.   foreign ownership.


	1
	2
	3
	4
	5
	6
	7


Text 28

Complete the text using the words given on the right side.

	The many macroeconomic shocks to which transition countries are /1/ _______can also weaken their banks. Lending problems are much more likely to affect the banking sector as a whole. In a macroeconomic /2 /______, there are fewer profitable new capital investment projects for banks /3/ ____, and borrowers whose incomes decline have difficulty /4/ ______their debts. These effects have been intensified in some of the countries as their banks have been forced to liquidate 
/5/_____on loans called, leading to a sharp decline in the prices of the assets financed by bank lending. Problems of banking system /6/______tend to slow up suddenly, particularly in transition countries. If the ability of borrowers /7/_________their bank loans is in doubt, depositors may lose confidence in the bank's ability /8/______, which could lead to /9/______ on banks. This possibility makes the banking system particularly /10/______ to sudden bouts of instability.

	a.
the collateral;
b.
to meet the obligations;
c.
vulnerable;
d.
subjected;
e.
downturn;
f.
to fund;
g.
servicing;
h.
unsoundness;
i.
to repay;
j.   'run'.


	1
	2
	3
	4
	5
	6
	7
	8
	9
	10


Text 29

Complete the text using the words given on the right side.

	Strengthening /1/_____and competition in their banking systems to address this vulnerability should be /2/______in developing and transition countries. Responsibility for the /3/_____of banks and other financial institutions rests, first and foremost, with their owners, managers, and directors. Owners with their capital at risk have /4/____to appoint competent directors and managers and to closely oversee their business. This is why privatization is traditionally seen as a crucial element of banking sector reform in developing and transition countries. Liberalizing the /5/______to make the banking industry 'contestable' is another way to increase both private ownership and competition in the banking sector.


	a.
internal governance;
b.
strong incentive;
c.
private ownership;
d.
a high priority;
e.
conditions of entry.



	1
	2
	3
	4
	5


Text 30

Complete the text using the words given on the right side.

	Soon after the start of the transition, unexpected problems emerged in these countries: after they were 1_____, prices jumped more than 2  _______; fiscal policy was hard to bring under control because 3_____were falling sharply, and foreign exchange reserves 4______by exchange market interventions. Although inflation slowed during 1995—96, 
5 ______ of high inflation has continued to affect financial systems and the conduct of monetary policy.
Money multipliers are extremely low because the public 
lacks confidence in the banking system and prefers 6______. Lacking deposits, banks cannot perform the function of 7______and thus cannot efficiently 8 ______ to finance new investment, maintain confidence in their  currencies; several transition countries have 9______  monetary reforms.


	a. fiscal revenues;

b. liberalized;

c. resorted to;

d. mobilize savings;

e. to hold cash;

f. projected;

g. were depleted;

h. the legacy; 

i. financial intermediation.




	1
	2
	3
	4
	5
	6
	7
	8
	9


Text 31

Complete the text using the words given on the right side.

	Trade liberalization will make the economy more 1____and deepen its 2______ with the rest of the world. In many cases, this will help an economy 3_____ in line with its comparative advantages and to become less 4______  on single export markets or products. In addition, integration with foreign markets helps an economy become less dependent on 5____, so that domestic economic downturns are offset by growth in the international economy.
Openness may, however, also make an economy more vulnerable to 6____, such  as abrupt changes in  the 7____, that can significantly reduce growth.  If the shocks directly  8 _____ certain sectors, such as agricultural  or informal  production, they can have 9 _____ on the poor.

	a. to diversify its exports;
b. dependent;
c. significant effects;
d. terms of trade;
e. economic integration;
f. affect;
g. the domestic market;
h. open;
i. external shocks.


	1
	2
	3
	4
	5
	6
	7
	8
	9


Text 32

Complete the text using the words given on the right side.

	Meanwhile, 1_____ has continued to improve, and not just because of buoyant economic activity. Greater tax 2_____ had lifted revenues to their highest level since the dissolution of the Soviet Union. And yet, spending has been commendably restrained. As a result, the federal government's primary budget balance, 3_____for oil prices, improved by more than 1% of GDP last year. The 4______position also remains strong, with the current account surplus narrowing but remaining very large at 12% of GDP. This has allowed Russia to accumulate official reserves and 5______borrowing from the Fund ahead of schedule. Large surpluses are a mixed blessing, however. The use of partially sterilized intervention to limit the ruble's strengthening has fuelled money growth and prevented inflation from 6_____ in line with the authorities' targets.


	a. adjusted;
b. falling;
c. fiscal position;
d. pay off;
e. collection;
f. external.


	1
	2
	3
	4
	5
	6


Keys to the texts of the laboratory assignments

1.

	1 f
	2 c
	3 g
	4 e
	5 h
	6 a
	7 d
	8 b


2.

	1 d
	2 f
	3 b
	4 h
	5 e
	6 a
	7 c
	8 g


3.
	1 j
	2 e
	3 a
	4 b
	5 h
	6 c
	7 i
	8 f
	9 g
	10 d


4.

	1 d
	2 e
	3 c
	4 f
	5 b
	6 a
	7 g


5.

	1 a
	2 f
	3 c
	4 b
	5 e
	6 d
	7 g
	8 h
	9 i


6.

	1 b
	2 f
	3 c
	4 a
	5 h
	6 d
	7 d
	8 e


7.

	1 c
	2 a
	3 f
	4 e
	5 b
	6 g
	7 d


8.

	1 d
	2 a
	3 b
	4 h
	5 f
	6 g
	7 c
	8 e


9.

	1 d
	2 b
	3 f
	4 c
	5 g
	6 a
	7 e
	8 h


10.

	1 c
	2 h
	3 a
	4 e
	5 d
	6 g
	7 b
	8 f


11.

	1 d
	2 c
	3 f
	4 g
	5 e
	6 a
	7 h
	8 i
	9 b


12.

	1 d
	2 e
	3 f
	4 c
	5 b
	6 a
	7g


13.

	1 c
	2 d
	3 k
	4 e
	5 f
	6 g
	7 b
	8 j
	9 i
	10 a
	11 h


14.

	1 b
	2 k
	3 c
	4 f
	5 g
	6 h
	7 a
	8 d
	9 i
	10 e
	11 j


15.

	1 a
	2 d
	3 e
	4 f
	5 h
	6 g
	7 c
	8 b


16.

	1 a
	2 i
	3 c
	4 f
	5 g
	6 d
	7 j
	8 e
	9 b
	10 h


17.

	1 b
	2 a
	3 e
	4 g
	5 i
	6 f
	7 c
	8 j
	9 k
	10 h
	11 d


18a.

	1 b
	2 d
	3 h
	4 j
	5 c
	6 e
	7 a
	8 f
	9 g
	10 i


18b.

	1 b
	2 d
	3 c
	4 f
	5 e
	6 a
	7 g


19.

	1 d
	2 e
	3 g
	4 a
	5 h
	6 b
	7 j
	8 c
	9 i
	10 k
	11 f


20.

	1 g
	2 c
	3 f
	4 d
	5 i
	6 a
	7 j
	8 b
	9 e
	10 h


21.

	1 c
	2 h
	3 d
	4 i
	5 e
	6 a
	7 f
	8 b
	9 g


22.

	1 d
	2 h
	3 f
	4 a
	5 j
	6 b
	7 i
	8 c
	9 e
	10 g


23a.

	1 b
	2 f
	3 j
	4 a
	5 d
	6 g
	7 c
	8 i
	9 e
	10 h


23b.
	1 f
	2 i
	3 c
	4 g
	5 e
	6 b
	7 d
	8 a
	9 h


24.

	1 c
	2 i
	3 d
	4 j
	5 a
	6 k
	7 h
	8 e
	9 f
	10 b
	11 g


25.

	1 c
	2 a
	3 b
	4 f
	5 g
	6 d
	7 e


26.

	1 b
	2 e
	3 a
	4 c
	5 f
	6 d


27.

	1 a
	2 b
	3 e
	4 f
	5 g
	6 c
	7 d


28.
	1 d
	2 e
	3 f
	4 g
	5 a
	6 h
	7 i
	8 b
	9 j
	10 c


29.

	1 c
	2 d
	3 a
	4 b
	5 e


30.

	1 b
	2 f
	3 a
	4 g
	5 h
	6 e
	7 i
	8 d
	9 c


31.

	1 h
	2 e
	3 a
	4 b
	5 g
	6 i
	7 d
	8 f
	9 c


32.

	1 c
	2 e
	3 a
	4 f
	5 d
	6 b
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